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339t & fre 3rgarer /Instructions to the Candidates

You have been called for the written test based on the online data fumished by you in the web application.
if you have wrongly entered in the web any information or you do not possess the required

qualification as per our advertisement, your candidature will be rejected.

2. WO, 80 WA A oy RA-GFPAR F ® T F§ AR udem A 3w 90 Bae

The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is
90 minutes.

3. OR fawcul AR aE(fAss YER & g g ROt & Rk v swfer v & @ g

The questions will be objective type with four options out of which only one will be unambiguously correct.

4. 9l TR F AT 01 3w gt AR uAF Treid Ieak F AT 0.33 37 Frer ST
Each question carries 01 mark and 0.33 marks will be deducted for each wrong answer.
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5. 9T & Icai & & v Fee At ufa afga areer eEam Ieer-qfedet & st

A separate OMR answer sheet with carbon coated copy will be provided to mark the answer options.

6. 3TTeRT iell/Tol TATET & dicT U1ST U § HNTANR Ieak-Ifeaen & waftra sifaer o 3ifra #= @gr
o} T AT FAT &

- You have to select the right answer by marking the corresponding oval on the OMR answer sheet by
blue/black ball point pen.

7. U YR F AT A Ical S I I S AT AT |
Multiple answers for a question will be regarded as wrong answer.

8. I ¢ Pt H AR TeA-gFETH & A5 A NTANY Ica-9feaem A _fBv_7v sune e
=ifgwl

Question booklet code printed on the top right corner should be written in the OMR_answer sheet in the
space provided.

9. RS- HTIHT ATH AT Ishaich Tl Toidd |

Enter your Name and Roll Number correctly in the question booklet.

10. HTANR Jeer-qiecrenr 7 gl wfafRea siely/wrel gy & afer wgeds & & & e =rfge)
All entries in the OMR answer sheet should be with blue/black ball point pen only.

11, e gTer 7 fadrares fr 3ufufa 7 & smae gi-feee WX grams = arfRu|
You should sign the hall ticket only in the presence of the Invigilator in the examination hall.
12. ST i o are gl & ey FoYes, FAFas
s, site ST are) i Feafer AR & Sreef|

Computers, calculators, mobile phones_and other electronic gadgets, text books, notes etc., will not
be allowed inside the written test hall.

13, ot - & o A

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over
the original OMR answer sheet to the invigilator and retain the duplicate copy with you.

14, TA-geaat 33 39T O 7w B
The question booklet can be retained by the candidates.

15. G & s 6 F SN 39Tt Y odien gl ge 1 sregata i B

Candidates are not permitted to leave the examination hall during the first hour of the examination.
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defiws-dl — f%eT / Technician-B — FITTER

L 30T g A ————— A 3T &

' Extinguishing of fire does not include
(a) TErfdr/ Starving (b)  @HaIT/ Smothering
(c) 331 &1/ Cooling (d) 33T/ Blowing

2. dAlF-uifafed Bt 97 § Bwnst g 3

The discharge from non-positive discharge pump is

(a) fARaT 98T/ Continuous discharge
(b) ﬂ‘ﬁm &g/ Cyclic discharge

(c) &t/ Both (a) HR/and (b)

(@) arcfos Tde/Random discharge

3. F=fefad # ¥ #la w v uig Fea 7 1 §?
Which of the following is a primary metal cutting operation?
(a) @r3eY RATHIT/ counter sinking (b)  FI3T ST/ counter boring

(c) Fdic WIH/ spot facing (d) f3feer/ drilling

4. 919 UF god @ 3 R Feg@st & Ruioa B Jwen &, o v Reads w1 aftafea aor
o= gem?

When a circle is divided into 3 equal sectors, how much is the included angle of each sector?

(a) 7z ¥BIF/radians (b) —Zi‘%ﬂ'ﬂ'/radians

(c) %’5 W39/ radians (d) % I¥I=1 / radians

5. m%ﬁaﬁmﬂm#mwmmﬁmﬁmm
#r dafaw iR cwafeua faftr «=r 32

What is the scientific and systematic method of identifying deviations in instrument by
comparing with a master having higher accuracy and rational traceability?

(a) 3HUTFA / calibration (b)  9RR[EAT/ precision
(¢©) H&FAT / accuracy (d) faga=T/ deviation
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6. TR g1 60° F ¥ 15 HeT & & 0T FAT grI?
What is the angle if we subtract 15’ from 60°?
(a) 59°45’ )  59°85
(c) 5H9° (d) 60°15

7. mmﬁﬂﬁ*gﬁmﬁmﬁmmaﬁaﬁ?mmﬁmmﬂa de &
&= Y AT |

The amount of total raw sheet used to make the door was 4.1 square meters and percentage
of wastage is 5%. Calculate the wastage of sheet.

(a) 2.05 square meter (b)  0.205 square meter
{c) 20.5 square meter (d) 3UUFT 7Y aﬂé sTeT / None of the above

8. UFH 93 F AHA H MAF FoT FAT §7

What is the included angle in case of acme threads?
(a) 21° {(by 60°
(0 45° (d) 3WFT H W HT A67/ None of the above

9. a@mﬁCNCﬂwaﬁr%?

What does CNC stand for in metal working?
(a) Controlled Numerical Calibration

(b) Central Numerical Control

(¢) Computer Numerical Control

(d) Conventional Numerical Calibration

10. drger gEe ot BfF & v Reafaf@a & & 5 fa o @1 suger e sreem?
Which of the following drill bit shall be used for drilling on brass material?
(a) c@R& 8fda / quick helix (b) e gfoFd / slow helix
(©) =& ¢faeH / standard helix (d) 3R H/ all of the above

11. 40 m/min & FEF H A3 F Y, ITTOT FH GRS 16 FHE g1 10 m/min T FIHOT FHT
NdeT F fhdaT 21? IUFIVT S °gidis 0.5 AT o

With the cutting speed of 40 m/min, tool life obtained is 16 units. Find the tool life for
10 m/min. Assume tool life exponent to be 0.5

(a) 8 (b) 128
(c) 256 (d) 64
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12. & f@mr o r gyl ———— & v §

The symbol shown below is for

G

(a) WEYUT & YgA 9T/ First angle of projection

(b) wEgUT F ?{H‘l‘ #I9T / Second angle of projection
(¢) FBYUOT & Y @07/ Third angle of projection
(d) w89oT F T FIOT/ Fourth angle of projection

13. AoE F HETAEar HHR 30e8 TATAT AT &1 FeT 30, e 3R 8 FAT gITT 72
The tolerance size of shaft is mentioned as 30e8. Here what does 30, e and 8 represent?

(a) A IR, Ao Radas, agfedr &1 43/ basic size, fundamental deviation, grade of
tolerance

(b) HeT PR, FgAfeream H A3, FifF [T / basic size, grade of tolerance, fundamental
deviation

(c) wifas fawes, Fgrfear #1 A3, AT MHR/ fundamental deviation, grade of tolerance,

basic size

(d) WeAATT 1 F3, Hifolw fa=elst, A IMFER / grade of tolerance, fundamental deviation,
basic size

14. 10 fRell g2l W 10 e HT T FRT AT §1 3cbes 0T A1 AT

A force of 10 Newtons is acted upon 10 kg mass. Find the acceleration produced.

(a) 1m/s? (b) 10 m/s?
(c) 20 m/s? (d) 100 m/s?
15. 9 & UFH 3cFH @ 927 41 e ¥ qifdd 3R Hrea T v wihar g
is a process of cutting out desired shape from the strip or sheet by a single blow
of the punch.
(a) sfhar / Blanking (b) AT/ Piercing
() @TAI; / Lancing (d) RFHT/ Trimming
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16. e A & # EFHT Havea &
Hemming operation in sheet metal work is

(a) 180° W FAEHF fFaART I _ﬁgﬂ' §ATAT / making edges blunt by bending and folding at 180°
(b) fBI 9T G @IMAT/ placing wires at the ends

(¢) T Fr g4l ¥ AR/ hammering the sheets

(d) wreIf T FLE FA TN TAG / surface protecting the sheets

17. TF W F 391 900 eI F T & WY, 150 ae Hr Wz 9FT F UF goIAE W
2 ee F vF FAE aF 30 F AU BFar S g1 98 diwaA U8 A fifaw 99 aw
FEUAT 3T A1 "ol &

A pulley is used to lift a mass with a force of 900 Newtons with rated power of 150 watts to a
height in 2 minutes. Find the maximum height up to which the mass can be lifted

(a) 2#HET/ meter () 20 FRI / meter
(©) 25.5 #eT / meter (d) 1.8 HET/ meter

18. o< F ITETT HAAH &THAT FF FGRAT AT Heell &
The shock absorbing capacity of a bolt can be increased by

(a) TR & 3TN FF / Using washer

(b) 3 &F { HARL / Tightening it properly

(¢) T FT AT &I / Increasing the shank diameter

(d) =uF NP IE P FH FI& / Decreasing its shank diameter

19. —40°C # Ffedd agA= A= 7 9ot

Convert —40°C to Kelvin temperature scale
(a) 233K (b) 260K
(0 313K (d 340K

20. T3 a7 3 R & ol ey & & 1 AT
The angle between the drill axis and the leading edge of the land is
(a) @I FIOT/ Chisel angle (b) ﬁ§ &I9T / Point angle

(¢) fog Ree e / Lip relief angle (@ IRTFT § ¥ FS AT/ None of the above
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21. 100 RFENNH TS W UH U Sl B W @ g 1 AR ader & IOTE 0.1 §, ¥ stk
ﬁm@?%uﬁﬁaﬁ%ﬁvﬁﬁawmmaﬁ?mﬁ%wﬁ&wﬁmw
10 m/s? g

A metal block weighs 100 kg rests on the floor. If coefficient of friction is 0.1, find out the force
required to pull the block along the floor? Consider acceleration due to gravity is 10 m/s?

(a) 100N (b) 1000N
(¢) 5OON (d 10N

22. @Y 3YGR TR 7 ST a1 A e W HT A
Which media will give most severe quenching in heat treatment operation?
(a) o #eT/ Oil quenching

(b) STl YA/ Water quenching
(c) ' eIl & WY TAT HI AA / Water quenching with agitation
(d) SFPIT 2HFsT / Brine quenching

23, aig3t A e & e frw faftr & swa el w1 3w R S g2
Which method employs a filler material for joining metals?
(a) AT/ Riveting
(b) e/ Bolting
() 3afegar/ Welding
(d) 3IWaFd F & $15 A81/ None of the above

24. UF gfRed & F1 500 e & @ F s fFar s § AR 25 mm F TNf3A Rear Sar
21 3 10 mm g% TR F61 & v fhaar o) e gem?

A helical spring is loaded with a force of 500 Newton and is compressed by 25 mm. What
would be the load required to compress it by 10 mm?

(a) 100N (b) 200N
(c) 300N (d 1250N

25. 6.861 mm AR F Y AN F AT FE TEF AT 3UFUT FT 39T HAT ST FHAT 872
Which precision measuring instrument can be used to directly measure the value 6.861 mm?

(a) AT AT WeFeT / Vernier Bevel Protractor
(b) aAR FFAT / Vernier Calliper

(c) ABHART / Micrometer
(d) afFax FTEHIHEI / Vernier Micrometer
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26. CFTAIT W ITATT & fopam Smar &
Templates are used for
(a) Siig & &/ Piercing the job (b) ST 9Fsa F / Holding the job

(c) Sra f@aféar & / Riveting the job (d) 39UFd H ¥ Fg LT / None of the above

27. Tk R &1 3T RBFar ster &
A torque wrench is used

(@) FATFIT T T & AT/ To apply clamping force

(b) wenTer Y MFAT A F fAC/ To measure light intensity

(¢) %9 &I F ANA F fAT/ To measure fluid pressure

(d) Tagga 9faler @I ATG & fAT/ To measure electrical resistance

28. o= Reller agw & fRuse W frg ame) &7 39T fFar Srar 272
Which thread is used on the spindle of a quick release vice?
(a) §TH T / Buttress thread (b) UFR YR/ Acme thread

() HlR grET/ Square thread (d) #few aET/ Metric thread

29. WA T+ 1 IR FrRMNS T FT AT FEr @
Ratio of Ultimate Tensile Stress to the Working Stress is called
(a) UiEE FT HTATA / Poisson’s ratio (b) Y& FT HNF / Factor of safety

() WIRIRIF da1 g/ Proof stress @ FIRAT 39T / Stiffness ratio

30. &e 3R I 20H7g6 Fre g Ram s &1 20H7 Rew 0 3R +21 AsE= ¥ 59 @
20g6 fagera -7 3N 20 FEF §1 35 IR e F T 3VFIR Fed 9 w2

Hole and shaft is given by 20H7g6 fit. 20H7 deviations are 0 and +21 microns while 20g6
deviations are —7 and —20 micron. Find the maximum clearance between hole and shaft?

(a) 7 AT / microns (b) 20 ASHIT / microns
() 21 ATEHIT / microns (d) 41 HTSHIA / microns

31. 2¥IeY U HHR F AGes TN selleh HT ITHINT GeaAT FAT QM2

What will be the approximate mass of a mild steel block of size 2 meter cube?
(a) 1,60,000kgs (b) 1,00,000 kgs
() 16,000 kg (d) 78,000 Grams

A 8 1488


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247 -

32. Ffaf@a & ¥ a9 el e ag 82
Which of the following is a non-ferrous alloy?

(a) TeoTord T/ Stainless steel (b) gagrrfrﬁm { Duralumin
(c) g% T3 ¥ / High speed steel (d) =1 Fear ol / Chilled cast iron

33, aﬁzﬁmﬁm@mﬁuﬁﬁa‘ﬁhm%maﬁg%@aﬁmmﬁwma
- ZgRI AT S B

‘I'he sheet metal operation which involves cutting operation followed by bending of the cut
portion is known as : :

(a) solféper/ Blanking ()  AfdT/ Shaving
(¢) @A/ Lancing (d) Taf&er/ Piercing

1. PeRfET § ¥ g g @) ar F P faas # waedswar JE g 87

Which of the following materials requires no coolant for machining?

(a) HBeE T/ Mild Steel (b)  FTHT AT/ Cast iron

(¢) e@efAF+ / Titanium (d) IWEFT F & FI$ I/ None of the above
35. gl & gt U3 & R i g B

The weight of the hammer is marked at of the hammer?

(a) HIHWT/ Face () &Il / Cheek

(0 eI '\'_=IJTR§I'/ Eye hole (d) W/ Pein

36. U g SIS Ui # el & ORY AR AT h HT HROT AT ¥
In a deep drawing operation wrinkle formation around the flange is due to
(a) ufeefy TdEsT & N7 gdhieal / Buckling due to circumferential compression
(b) 3ea Red uRe a9/ High blank holder pressure

(0 e aUA ¥ FROr IR W@ 9% Sal § / High temperature causing increased

circumferential length

(@) T@arg $r &AY/ Lack of lubrication

37. EVE-FARHEHECT & AN FT TR F4T §?

What is the measuring accuracy of a depth micrometer?
(a) 0.0lcm () 0.00lcm
(¢ 0.lcm (d) 0.005cm

A 9 1488
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38. T Aeer &1 A+gye §7 A Hiza H fvw @R & FwifesT aee @ = 3vaor & e
Ad @ AIfgT?

In which method of manual bending of sheet metal the folding line is to coincide with edge of
bending tool?

(a) wifeser aw /AT / Folding bar method

(b) <3 R# [/ Hatched stake method

(¢) TS 3T A’ ‘C’ FII/ Angle iron and ‘C’ clamp
(d) C FT 3T TG FFH/‘C’ clamp and hardwood

39. fafaf@a # @ 5w 39T & 9T Ve uige AR 3T ofse am o 2
Which of the following tools has the parts by name Straight point and Bent point?

(a) f3arS=/ Divider (b) FHFIH/ Compass
(c) T/ Scriber (d) HEW/ Calliper

40. UFH AN AN UF A F ey fhe Far i §) 38 BFa TeR 1 A difer Rvew 82
One nylon washer is fitted inside a nut. What kind of nut locking system is this?
(a) T AT AR fATEA / Swan nut locking system

(b) HHeT A I ATEH / Castle nut locking system
(¢) Foes AT difha RATeH / Slotted nut locking system
(d) TRFHsH Ac Fifer A / Simmonds nut locking system

41. g NPT I ¥ M o B
Halon extinguishers are filled with
(@) {@ 9I38T/ Dry powder
(b) CO:¥F/Gas
() wHEA TEFEREE AR SAFERREFERT R9F (BCF) / Carbon tetrachloride and
bromochlorodifluoro methene (BCF)
(d) 9/ Water

42. 7 mm TRRE B 3R 22 m/min $r Fead A 7T & WY g s@F | FRAT & [e RPM
FT gPn?

What will be the RPM for drilling on a metallic block with 7 mm twist drill and a cutting
speed of 22 m/min?

(a) 100 (b) 1000
(¢ 1100 (d) 2200

A 10 1488
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43. PFATAfRT Aaes GFd F7 g2dr &2

What is indicated by the following warning sign?

(a) 3NaES S/ Overhead load
(b) 3Nates ARYT @A/ Overhead fixed hazard
() wad g B 398197 HL/ Use only hooks

(d) TaTwe &1 @AW/ Risk of explosion

44, ARG F 3alF 9 F7 gar den F v ve IR-faemewdr e
A non-destructive method to detect internal defects in materials

(a) FORAT GEIoT/ Hardness testing (b) WHE 98ET0T/ Impact testing
() T=adr 9OeToT / Tensile testing (dy 3regr Hifeld 9dEToT/ Ultra Sonic testing

45. UF 2d 39T A 37 A O WA T F AU wed § o B divem Fdkm Az A
H3 Hhl ¢, gl

A drill jig that is ideal for thin or soft workpieces which may bend or warp during drilling
operation is?

(a) TUIred & FAHT/ Angle plate jig (b)  &fFE TN/ Box jig
¢y Hsfaer fa@T/ Sandwich jig (d N 9T/ Leaf jig

46. AWM & A IeTER FE F gHS F UFSA & AU BFE yer w1 S B e

T 82

Which type of jig is designed to hold eylindrical work pieces during machining?
(a) i 397/ Turning jig () AT 39/ Milling jig

(c) BT A1/ Grinding jig (d) 3 f3eT/ Drilling jig

A 11 1488
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47. Ty 3t ™aE afaue g9 & Fror T a1 o9 a9 g9 F v smaat ey geEl -

39T R Srar 87

Which material is commonly used for making ring or plug gauges, being stable and wear
resistant?

(a) HIET/ Bronze (b)  wenf¥eeh / Plastic

() TAH ¥ / Stainless steel (d) U’éﬂ@ﬁ'ﬂﬁf Aluminium

48. TATw & J= gFE 1 AT FWOT & FohelT 87

What can cause buckling between rivets?

(a) ®Ig F fFa @ Fiecadm s & og dF 997 qﬁ/ Large distance from the edge of the

metal to the centre of nearest rivet

®) ' = & {vﬁ Frod F W9 F aﬁlﬁ' ¥ %7 &/ Pitch distance less than twice the diameter
of the rivet

(©) ﬁmﬁfﬂﬁmaﬂﬁﬁtm%eﬁagm#a@mfﬁa%ma@gr@rw%/
Adjacent rivets placed too far with pitch much greater than three times rivet diameter

(d) ﬂﬁt}l‘ &1 3rgesr ufgaat & dra fonr Ao NARET caasyT/ Zig zag riveting arrangement

between adjacent rows of rivets

49. @ 0.5 mm A MeF A A F AT 0F AfF Yeg A F61 957 ¥ 39N FFT AW arer
IO fr i3E 8 mm g1 RO a7 & IFHR (FisE) F FEm?

A locked grooved joint has to be made to join two 0.5 mm thick sheets. Width of the groover to
be used is 8 mm. What will be the size (width) of resulting fold?

(a) 8mm (b) 7 mm
{(c) 6.5mm (d) 4 mm

50. 1SSH 3600 x 700 x 1.00 & Iy RAfdse T e & A Far §7
What is the thickness of steel sheet specified with ISSH 3600 x 700 x 1.00?

(a) 1mm (b) 1lcm
c) 1m (d) 10 em
51. 919 TegHfaas wiHdlr &7 HSS 3UsR0T &1 3T s FIeT ST E 81 ol m/min #H IFARAT
Fea H AT FAT §?
What is the recommended cutting speed in m/min when Aluminium material is being cut
using HSS tool?
(a) 10-25 (  50-60
(c) 30-60 (d) 70-100
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52. Wl T &I H S W HAIN HA dlell AR HIIT Hgenedl 7
The curved part of the file separating tang from the body is called?
(a) THaRT/ Edge (b) e / Heel
(c) @ellsT / Shoulder (d) &s&/Handle

53. #iSier el # 8F alF A 997 F & AU Her ar S T FomgaT fFar 4 g2

Which cutting tool is designed for enlarging existing holes in an accurate manner?

(a) QAHT/Reamer (by cfare B/ Twist drill
() &/ Tap (d) TS/ Chisel
54. widad faust gfrar ————— &r it &

Stress relief is carried out

(a) wfAEd F IFAT F& F fAT/ To neutralize stress
(b) FIATA & [T / To induce hardness

(c) 9 FAI dF FH d9A W IR gl F &3r @I / At low temperature at prolonged
time and cooled in water

(d) 39U @I/ All of the above

55. Feolow Ve ¥ fow i@ 7 & B B urg aca &1 39l SeRer 9y # ae F

forw fomam Srar 87

Which of the following alloying element is used to increase corrosion resistance in stainless
steel?

(a) WIFPRY / Phosphorous (b) HeH/ Sulphur

(¢) HIfAITH/ Chromium (d FABIFA/ Vanadium

56. fraT des o1 3WRT =R@T #§ § 59 I & v fFar o gaar 87
A fillet weld can be used for which of the following joints?
(a) @I/ corner (b) 9 /lap

(¢) 2/ tee (d) 3IRIed AT/ all of the above

57. ¥ic AFFE A ygad gaaers oy verd § 5 gl &7
Electrodes used in spot welding are made up of which material
(a) adao &/ Only Copper

(b) &MET 3 ZIreA / Copper and tungsten
(¢) diar 3T FAIF/ Copper and chromium
() @ AR TegAATH / Copper and aluminium

A 13 1488


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

58. WK gizg & an # FAw=faf@a & & 9 a1 sy a7 &2

Which of the following is true about gear drive?

(a) 3efT 9one @ auet & AT, sao fora PR &1 39T fFar Smar &/ To avoid axial
thrust, double helical gear is used

b) T wha & @ ga f M A Ta & awaRs A F T D gy B vy Fa@
AT 8 / The distance between the space width and tooth thickness along pitch circle is
called backlash

© UREsHFs R d AR o s MR Aa S i s & F
IRT IR gHAT T8 / In epicyclic gear train, two gears mounted so that the center of one
gear revolves around the center of the other

(d) FFa G/ All of the above

59. FrATaf@a & @ Fi7 @ V Joc gga $r fadwar g &2
Which of the following is not a feature of V belt drive?
(a) oo 3 g?-ﬂ' FT FEF TI@UT 392qa & / Precise alignment of belt and pully is required

(b)) I E@' Hr ﬁa:{I,H QwoT & fAT 39Ater RFar STar &/ Used for large distance power

transmission

(¢©) &HH MT I AU / Less noisy operation

(d) 390Fa G/ All of the above

60. “dieh ARR" HT 3UAT JET T F GRCFAT I 7 feram e )
“Lock washer” is used na fastening assembly mainly for

(a) 3THEC @Y AFd 99 & T/ Increasing strength of assembly

(b) HEET ¥ FH & AU/ Easy tightening

(0) TSmadY G & AT/ Decorative finish

(d) YT ZaRT SelTsT H A & fAT/ Preventing loosening by vibration

61. TR TR & FiesT & 3TRIOT & 200 F 250°C & T ot & aifldg (Fov) R Srar &2
Which type of cutting tool is tempered by heating between 200 to 250°C?
(a) &9/ Taps (b) B/ Drills

(¢ e el / Turning tool (d) ¥FT/Reamers
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62. “Cyaniding” T W1 fhgs T Rrar sar §7
“Cyaniding” is used for

(a) THeRET/ Sintering (b) W FETAI/ Case hardening
(¢) urafad &&T / Tempering (d) #ATH FAT/ Softening

63. M16 x 1.5, 45 mm &9 WReeR & AT, S5 aret Il 1 AT JTAT HT A0TAT HY

For a M16 x 1.5, 45 mm long fastener, calculate the approximate number of threads getting

engaged
(a) 16 (b)y 45
(cy 30 @ 35

64. <% F uad Fmar ST €
Torque is expressed in
(a) GrEd / Pascal (b) Nm
(¢ N/m? d kg

65. frel g7 Yo # @ gt & O zEE 1 AR FRed @R AT S §?
Pressure difference between two points in a fluid line is measured by

(a) SOHNeX/ Barometer

(b) I TgF AN/ U tube Manometer

(c) ¥ a1 sTYx F T35/ Bourden pressure gauge
(d) UTMHRHACT/ Anemometer

66. FTUAN YAE oI ST FaT &
Mass flow rate indicates
(a) 9@ E'Fﬂé' &9 H cTHAT 9a1g / Mass flow per unit area

(b) YT IHE FHA H FEIART YAIE / Mass flow per unit time
(¢) wia SHB HIGd SSIAT Wamg / Mass flow per unit volume
(@ 9 3’-51@ 9T ZTTAT WaTE / Mass flow per unit velocity

67. FaAEoeT F AT HiT AT AT W 87
Which of the statement is true for Galvanization?
(a) 9 VT & fav v grncas Gs Hifear § /It is a protective zinc coating to steel

(b) X T A ¥ TN F AT FIMAT FGAT &/ It is applied to prevent rusting
(0 FEH ITART Wa AR g H geaw ¥ v forar ST &/ It is used to protect steel and

iron

(d) 3ITFT FH/ All of the above
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68. & IHR F T s dgadear Aeafafas Ry & fomd a8 &2

The geometrical tolerance shown in the following figure represent which shape?

i @
(a) SEATHRAT/ Cylindricity (b)  THEHIUT/ Concentricity
(¢) HHIAIT/ Flatness (d 3IIFT F A ;L €7/ None of the above

69. fAr=fof@a & & #ia 9 +ua FAdTT & X F T &7

Which of the following statement is true about flatness?

(a) T Hegr Tierer & AT &/ It is same as surface finish

(b) 3 WHIFl HICI HT IUART FH AT FATAT & / It is measured using profile meter
(¢) 39 S/ 3HTT FT IUART FI& AT AT & / It is measured using dial indicator
(d) U8 HYsT IF FET &/ It is not measurable

70. UFH TQoAISS aled U FE FAT Bl
A solenoid valve works en
(a) &d AfFT / Fluid power (b)  faeIT Fi1/ Electrical energy
(¢) ® FAT/Solar energy (d  3YrEd |t/ All of the above

71. ARf@T & & Fi7 @ gfa-Reneas aeg &1 v Ftar 27

Which of the following represents a bi-directional valve?

(a) TH dred/ Check valve (b) At NesT ared / Non return valve

(¢) fadel ared / Butterfly valve (@) 39Fd H W FI 7IET/ None of the above
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72.

73.

74.

75.

247

TAEER & aX & AeAfafld A F ST a1 w8 87
Which of the following is correct about anodising?

(a) %mwmmmﬁwmﬂmm%utman

electrolytic process for producing oxide coatings on aluminium

(b) 3HEAEE WA HAHAAR 9T 5 & 30 um Hiers &Y 8l €/ The oxide layer is typically 5 to

(©

@

30 pm in thickness
E,'EEF[Wﬂﬁgﬁﬁ'ﬂﬁWﬁmﬁm%ﬁ'ﬁmmﬁlltisusedtogive

surface resistance to wear and corrosion

Fq0Fd T3/ All of the above

S INTES H 3w &

Difference between a bolt and a stud is

(a)

(b

(c)

(d)

e # HalE 3R g A el amr 213 &/ One has internal and the other has external
threads

wh H Afew q;é’t g 3k Z,:HT # ACME ?-I@' ¥ / One has metric thread and the other has
ACME thread

UF & UH a6 R § AR g & At /E T2/ 1 & / One has head on one side and the
other has thread on both sides

U H IIANT AT & 1Y AT oA § 3R @ AT F 3UANT ¢ FL@AT / One is used

with a nut and the other does not use a nut

Fere & #AEY ¥ ¥ 37T Brad e fhar s 2
A gasket is primarily employed for

(a)
(b)
(©)
(@)

A & A AT & AT/ Uniform distribution of load
i eEe S Wi @A & TaT/ Providing leak tight joint
2Tk & &H Fo & fov / Reducing the torque

TE-FT H FH FA & [T/ Reducing the wear and tear

Rrfafla & ¥ Rrg Breat 1 3T AT @ R FEIS H 0 @Y WA FE & A
farar smar &2

Which of the following fastener is used generally to secure paper together?

(a)
(c)

diee / Bolt (b R3e/Rivet
LU / Staple (d T/ Nut
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76. Hies afeeT Uihar & IR F Feaaf@d & ¥ #fF a1 Fu= aea 22

Which of the following statement is wrong about the cold working process?
(a) &F BEd FA T FaX 7T A/ most common method of work hardening

(b) gﬂ:ﬁﬂ?&ﬁﬁﬁw dAT9ART & A= m§3ﬁ 1 ceonfie® faFIOT/ plastic deformation of metals

below the recrystallization temperature.
(©) vomites fAwIUr & AETA § ATt F FHIGE FIAT/ strengthening metals through
plastic deformation

(@ Y eng ar @A a1g A v faRee A a@ T S AR PR 58 S8 s wea

L&A1/ heating a metal or alloy to a specific temperature and then cooling it to harden

77. WRfaf@a F ¥ Fi9 a" 1 gHE T8 272

Which among the following is not a unit of pressure?
{a) ¥R /Bar (b)  YIEFel / Pascal

(c) < / Joule (d) @R/ Torr

78. 10 mm? # UF THR TAF W 60 N FT o HF FT @I &l Tdg W 1 F&r 95T 2919

Far g7

A force of 60 N is acting on a square surface of 10 mm2. What is the pressure acting on the
surface?

(a) 6 MPa (b) 6 kPa

(c) 60MPa (d) 600 MPa

79. Twfaf@a & & frasd dgax smargatdar ve aear 7
Which among the following has good malleability and ductility?
(8) T&T/Rubber (b) =Y/ Silver

(¢©) ¥/ Steel (d) T/ Brass

80. watlg & F&A fAgAor ¥ fAv frw area &1 syEeT fRar S &7
Which valve is used for fine control of flow?
(a) #ieI-Neet ared / Non-return Valve (b) FEIFATS aled/ Butterfly Valve

© ﬂé’ a1éq / Needle Valve (d) 3IRFT & A FS FE/ None of the above
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